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O A& &EHl Xl 2,000,000& 2,000
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1,628,626,000& 1,628,626
Xl 977,177
= 651,449
02 2teld| 25,398 0 25,398
O g&Z 22dHAG AFY 2teld]
1,660,000, 000& *1.53% 25,398
Xl 15,238
= 10,160
03 AlE 201 | 5,976 9,000 N 3,024
O 88 2ZHAS ALY AIEE20HH]
1,660,000, 000& *0 . 36% 5,976
Xl 3,585
= 2,391
MLl HOI2Y ZHEANH(KNE) 934,000 1,000,000 A 66,000
Xl 560,000
= 374,000
1 A& H YL 2] 934,000 1,000,000 A 66,000
Xl 560,000
= 374,000
01 Al&H| 928,115 993,700 A\ 65,585
O LU HOots& =4AE A&
928,115,000 928,115
Xl 556,473
= 371,642
03 AlE 201 | 5,885 6,300 AN415
O OHHHLU HIOIEY ZEAIE AIZ=L204H]
934,000,000 * 0.63% 5,885
Xl 3,527
= 2,358
ST NANL (HEH A2 2BXE)(XE 667,000 333,333 333,667
)
Xl 400,000
= 267,000
401 Al HI L £ 0HHI 667,000 333,333 333,667
Xl 400,000
= 267,000
01 Al& H| 662,797 330,933 331,864
O BEY NHTY VBXRE AL
662,797,000 662,797

- 373 -




fAH: S2st22 1
My BEMY NENY
Sl B ANY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 397,500
s 265,297
03 Al 2 THHI 4,203 2,400 1,803
O mSw AMDZ BB AY AL
=l 667,000,000& * 0.63% 4,203
Xl 2,500
e 1,703
B TE2d ZHAY(XSE) 334,000 0 334,000
X 200,000
fia 134,000
401 Al HI K 201 I 334,000 0 334,000
Xl 200,000
s 134,000
01 A& HI 331,595 0 331,595
O BAZ 48 92 THAL
331,595,000& 331,595
X 198,562
s 133,033
03 AlE 2 THHI 2,405 0 2,405
O 882 =8 EdZ ZdAMY AIERUH
334,000,000& *0.72% 2,405
Xl 1,438
e 967
Msds 4,020,530 3,131,708 888,822
X 642,000
J| 147,153
S 59,957
i 3,171,420
H=sdsae 4,020,530 3,131,708 888,822
X 642,000
J| 147,153
S 59,957
s 3,171,420
HsAE=2el 233,600 233,600 0
101 @14 dl 20,000 20,000 0
04 JIZHHZ2XRHEE S 20,000 20,000 0
O MEsAL22e E=MA A2
20,000,000& 20,000
201 Let249] 175,400 175,400 0
01 At 22l 24,800 24,800 0
O st&a A2F 6,500,000& 6,500
O =D &g AEZ 50,0008 = 3CH = 12& 1,800
O Hio ge A= 50,000& = 404 = 12& 2,400
O 588 HxI & 2¢ 50,000 = 10K 500
O 22428 ¥ 472 =448 3,000,000 3,000
O MESAES 22X 2l 5,000,000& 5,000
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2N 222

PRSI ﬂl%&%
ool HsaEB
S HD B (SH) - NRAY - BAS O 4t o8 il
O ggsda g8 7Y 5,000,000 5,000
O MESAE2 0|82 HEE P2
600,000 600
02 332494l 150,600 150,600
O aUd=sa & SE42sd M3
4,000,000 = 12&€ 48,000
HOIGHRANY +42(FLAASD)
500,000 = 12& 6,000
O Aot =25 470,000& * 12& 5,640
O HIIGHHBA =2 900,000& x12& 10,800
O &I A2 | 150,000& *12& 1,800
O a2 5,000,000 5,000
O doeAiSH(FEXMs2, AUMEH)
400,000& * 12& 4,800
O A22otA™E 3 | 100,000& * 23] 200
O =2¢3adAs 3,300,000 3,300
O dgtx2R =HE 1,000,000& * 23] 2,000
O &dIE 23 200,000 = 23| 400
O s =2 360,000& 360
O HMSAE N A= 5,000,000& =1 5,000
O MsAl&g2e A= 4| 12,000,000& 12,000
O M=SAI&EEH <Xt 10,000,000& x 1 10,000
O MsSAEXE %2l 2,000,000& «1 2,000
O H=sdMs32E 83 3,000,000& 3,000
O dHEHASANE 2222 3,700,000& = 14 3,700
O AdUNsa AU 3429 5,000,000& 5,000
O HYXelXE MEBAME 8223
21,600,000& =14 21,600
206 T & b 10,200 10,200
01 X2 b 10,200 10,200
HEBAES ZZEx322 HEz 7¢
5,000& * 300% 1,500
HNEANES JMO=EE 2472
4,000,000& 4,000
SO 22E &AM 2,000,000 2,000
HEAEE ZEHT P 1,000,000& 1,000
SEA )2 2E ¢
70,000& = 10H 700
HEAE2 &I t&I| 2L 1,000, 000& 1,000
307 QI2t0| ™ 28,000 28,000
05 QIZtR &2 28,000 28,000
HEZHOIESE 2F 22 6,000,000 6,000
MEHssd g2 10,000, 000& 10,000
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fAH: S2st22 1
g s
@2 Msds2 (cho &)
SA - BB B () - MM - BES Ol &t o San HmEET
O Zed=MNE egzel(dUr 82, =298,
Ok &) 12,000, 000& 12,000
SO +& 2el 20,000 20,000 0
401 Al& I 28I 20,000 20,000 0
01 A& tI 20,000 20,000 0
O &UTE HHEAMY(ZE2sE UEXERE,
g@E) 20,000,000& 20,000
IOUXNSHH 22 2 428,553 410,153 18,400
101 @124l 156,517 148,117 8,400
04 D12t 22 HEE = 156,517 148,117 8,400
O 2OMSME Ba el o2
19,800, 000& »2H 39,600
O UMSHE S (ZAHLSERA)Z20 116,917
- =0 64,150& = 3% = 2602 50,037
- =¥ 64,1503 = 3H » 56 10,778
— d0= 64,1503 *3H 212 »25%+ 1204 & 12,125
i PN R = 64,1503 = 3H » 12¢ 2,310
— ANz2te=g 7,2332 3 «100Al 2t 123 26,039
- 5¢22xE 10,778,000& 10,778
— ZE SO 64,1503 *3H x21 x60%*23| 4,850
201 L2l 261,796 251,796 10,000
01 At 2t 2l 64,420 64,420 0
O gmazgls Y 1500008 * 25 300
O M 2371+ +< 5,000,000& 5,000
O =D, HU#ag mMs= 6,000,000& 6,000
O EXAERIANE 50,000& = 63l * 2& 600
O 498 22K 222 2 (LA, AF2E)
600,000& 600
O +9% ML HA8 22F 7
1,200,000& 1,200
O A A2F P (LM S)
0,000& * 1204 2 %x123] 4,320
O 22X Sl 17,000, 000& 17,000
O =g8& @& ALY A2F £
500,000& 500
O +9% A32H8 832 7
4,000,000& * 14 4,000
O +9% FYE 2222l AES HNTY
900,000& * 13 900
O +98 222 yaH 7Y
50,000& = 10& = 43l 2,000
O =eH=sdH LA
50,000& = 1% = 35¢ 1,750
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SN 2s2BD
g s
@2 Msds2 (9 ® =)
SA - BB B () - MM - BES Ol &t o San HmEET
S ER T
50,000& = 18 » 365¢ 18,250
O =2HsMdE ¢ 222 WA
1,000, 000& 1,000
O Mty 425 3¢ 1,000, 000& 1,000
02 Tzl 197,376 187,376 10,000
O 493 FAHA HABE eyl
10,000, 000& 10,000
O dot=ER=3 40,000,000& « 14 40,000
O RogHI| FRANE= 165,000& * 12& 1,980
O FASAZMHI(EZE, 2¢3, doZ, &2
a1 7,000,000& 7,000
O &Jjetdze Y =5
350,000& = 12& 4,200
O s2dJ ¢d&e e === 8,196,000& 8,196
O 2gy 4dFH & === 1,760,000& 1,760
O &g9as =2 300,000& = 63l 1,800
O dIRe3 50,000, 000& 50,000
O 8dRes 5,000,000& 5,000
O 83die 253 200,000& = 23| 400
O x=g% ga2¢ 50,000,000& 50,000
O 28H=sEH AEEH |XHl
15,000, 000& 15,000
O 3% slaze 2208 |RAE L
170,000& * 12JH & 2,040
206 M= Hl 10,240 10,240 0
01 MHZ 4l 10,240 10,240 0
O =g& =Z2c&8 g& 7 700,000& 700
O =Z& e ¢ 700,000& 700
O &I & oM 2 1,000,000 1,000
O =g8& 2XJ 2H F& 60,000& 25 *43] 480
O =g& 2¢ dJ|&8 &3 F¢
300,000 300
O g% 2A2E 4% E 2
350,000& * 143 4,900
O =g& 2228 &M ¢
30,000& = 65 = 1201 & 2,160
HEAE &5 50,000 30,000 20,000
401 Al I 28I 50,000 30,000 20,000
01 A& HI 50,000 30,000 20,000
O dUds2, FEieZEMSE A4
2= 20,000,000& 20,000
O sUHSAME § “=HSAE FH|
1,000,000& * 10SH 10,000
O Jet2e==Zd &MY 20,000,000& 20,000
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fAH: S2st22 1
g s
t¢el: Msdsal (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
fHs8s XN 94,350 94,350 0
301 g4 = 94,350 94,350 0
o=t - 2s2SELS 94,350 94,350 0
O ®+Hsds 54 94,350
- =0 500,000& = 5 » 123 30,000
- 2g=g 200,000& = 5% = 128 12,000
— d=2teldl 200,000 = 5% = 12& 12,000
- &0z 500,000& = 5¥ = 600% 15,000
— ZADNZ 50,000& * 5% » 12& 3,000
- 25 450,000 * 59 = 23| 4,500
- s 30,000& = 109 « 123l 3,600
- HAHEXZ 200,000& = 5H « 123 12,000
— =5yl 225,000& * 5% « 23] 2,250
et MEFSX A HIXI(D12) 76,824 72,864 3,960
J| 38,412
e 38,412
307 glz2tol & 76,824 72,864 3,960
J| 38,412
= 38,412
02 It M AMHEE 76,824 72,864 3,960
O et MEHMSXEZX B
2,134,000& = 3H » 128 76,824
J| 38,412
e 38,412
Hzd MEMSXZI HEXI(D12) 179,256 170,016 9,240
J| 89,628
s 89,628
307 glz2tol & 179,256 170,016 9,240
J| 89,628
s 89,628
02 It M AHE X 179,256 170,016 9,240
O ozd M= BiXl
2,134,000& » 7H » 128 179,256
J| 89,628
i 89,628
M=adA K& 357,640 425,640 A 68,000
307 gl2tol & 357,640 425,640 A 68,000
02 IZtA M AHE X 298,240 366,240 A 68,000
O dg=EEIAFI s720Us ot
4,000,000& 4,000
O deted =& &Il oFHal & ot
2,000,000& 2,000
O M3 tetQAd2E==ZE2 & tHal &It
3,000,000& 3,000
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2N 222

Mo YSAE
@2 Msds2 (9 ® =)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@i HRE2
O dYdsEs &) eI tHal &I 1,500,000 1,500
O H2AUMSHE HELS EUX
3,000,000 3,000
O MEd=s #4843 N& 16,200,000 16,200
O ZQAHOIEEUS &It 3,600,000 3,600
O HsSgHl msa da2tia &It
6,480,000 6,480
O Hb573 dMetd=dM=su3s =
140,000, 000& 140,000
O &= 02 EUE &I 7,330,000 7,330
O HRAUME L2 S4HS X
4.,000,000& 4,000
O d=2HHE 222 sald4e XS
5,000,000 5,000
O M=2MaEdsUHEsE FIt 2,565,000 2,565
O H133 dMetge HZaMESsis &0
9,000,000 9,000
O M=3&ul Mssdial M=l XA
30,000,000 30,000
O EXAD &5¢ MExdsUz Z2orEl
45,000, 000& 45,000
O Netd: ZEUg 83448 MEHsds &
ot 2,565,000 2,565
O oot Al 5322013 &0 4.,000,000& 4,000
O dsg SAsOS s2Ua &It
2,000,000& 2,000
O NMetgd & &I s72U& &I 3,000,000 3,000
O 2dgel =3720U3 &It 4,000,000 4,000
03 QI HE2IHEx 44,400 44,400 0
O HEZ MES3 2% L AR=2T &=t
44 400,000 44,400
04 CIZ2tSHALALS B X 15,000 15,000 0
O &=z dM=sUa M= X 15,000,000 15,000
HOIESE XHAY 80,000 300,000 A 220,000
401 AlEHIZL 201 Y| 80,000 300,000 A 220,000
01 Al&H| 80,000 300,000 A 220,000
O S8 Ls)oEEX HEH(108H)
20,000,000 20,000
O FEYXAHOIESH olx&Cl &EXI(2¢H)
60,000,000 60,000
HOIEESZ ZAHAIS(EHI]) 60,000 0 60,000
o= 40,000
= 20,000
401 A& HI L 204 HI 60,000 0 60,000
o= 40,000
= 20,000
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EX: S22
HH: RS
@2 Msds2 (cho &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
01 Al&H| 60,000 0 60,000
O UE AHolE=EE B2AY 30,000,000 30,000
o= 20,000
= 10,000
O etk Hole=S& &OUAH 30,000,000 30,000
= 20,000
= 10,000
ATX2AL 0l2F XK (IN2) 27,304 25,282 2,022
J| 19,113
= 2,457
= 5,734
307 2iz2to| & 27,304 25,282 2,022
J| 19,113
= 2,457
= 5,734
02 QIZ2IAAAIE E X 27,304 25,282 2,022
O MUK AIEHAE 27,304,000 27,304
J| 19,113
o= 2,457
= 5,734
HYA MI202EWN S 50,000 50,000 0
307 QI2t0| & 50,000 50,000 0
04 CIZ2tSHALALS B X 50,000 50,000 0
O H133 A& = M=Z0I2kEUE HA
50,000,000 50,000
SHEHE 532 AEEZ O 50,000 45,000 5,000
307 2izto| & 50,000 45,000 5,000
04 QIZ2tSHALALSE B X 50,000 45,000 5,000
O 2018 SH=dE s=AEE2 1 A
50,000,000 50,000
AED SEHEP 2H 4,000 4,000 0
307 2Iz2to| & 4,000 4,000 0
04 SIZ2ISHAAISHE E & 4,000 4,000 0
O HEZ SHS7 FTLH Ha
4,000,000& 4,000
FYiEs A3 HLUAUS 10,000 10,000 0
307 2Iz2t0| & 10,000 10,000 0
04 SIZ2HSHAAISH E & 10,000 10,000 0
O H128 HYXNEE dLE2F HLULAWE
10,000,000& 10,000
WESA) L S35 EHI MEUS 2,078 2,078 0
307 2I2t0| & 2,078 2,078 0
04 SIZ2ISHAAISHE E X 2,078 2,078 0
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2N

Hu: HENE
el Msds2el
5 - 4
SA - BB B () - MM - BES e
O M253 n=s&I| & HM2ezl a3 WEU
3| 2,078,000 2,078
HUXNNE NLBF 5203 7,695 7,695
307 gl2tol & 7,695 7,695
04 DIZHHALALSE E X 7,695 7,695
O FYTFE HLBF SR0EHE
7,695,000 7,695
HNE L AN SFUE 8,550 8,550
307 21201 A 8,550 8,550
04 QIZFHALAIR B & 8,550 8,550
O HM44z & L A2l =703
8,550,000& 8,550
EQANZH AEgZEF MEN=E €703 13,000 13,000
307 glz2tol & 13,000 13,000
04 QIZFHALAIH B = 13,000 13,000
O ZEIEQANZH dg2F MEH= &2
3 = 13,000, 000& 13,000
S M BHECSIE S i A 15,000 15,000
307 glz2+ol & 15,000 15,000
04 QIZFHALAIH E = 15,000 15,000
O SZHEH BHECIEHE Jf 15,000, 000& 15,000
ZEHIEE HOE=WHS 4,500 4,500
307 21201 A 4,500 4,500
04 QIZFHALAIH B & 4,500 4,500
O ZEHutl € JAHOE=Z e
4,500,000& 4,500
M=ol &otg thal 10,000 10,000
307 glz2+ol & 10,000 10,000
04 QIZFHALAIH B = 10,000 10,000
O Z&EZ M= ot &itE 10,000, 000& 10,000
Al 2ig M=Usl 2,000 2,000
307 21201 A 2,000 2,000
04 QIZFSHALAIH B = 2,000 2,000
O 2ehg JIZASIEH 2 Mse stitsSial
D S| 2,000,000& 2,000
ZOHQ M=HA X2 57,480 84,280
307 21201 A 57,480 84,280
02 YAFAAFEE 39,300 36,100
O HMzezl dcatde HOMAM=SUa &It
30,000, 000& 30,000
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fAH: S2st22 1
g s
el Msds2el (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 5,000 5,000 0
04 DI2HHALALSE E X 5,000 5,000 0
O ¥ ==& ¥l 2Z0& 5,000,000& 5,000
ZEZ HLUAEIEU 52 HLAGS 2,000 2,000 0
307 eIzl & 2,000 2,000 0
04 QIZFHALAIH E = 2,000 2,000 0
O &5z HUASEHEEH SSAUHE
2,000,000& 2,000
MEHNSXN X AHIE&XE 19,200 19,200 0
307 glz2tol & 19,200 19,200 0
02 It M AHE X 19,200 19,200 0
O MEMsSXEX AH L4 19,200, 000& 19,200
ANAH=SMEH AL (XS) 94,000 84,000 10,000
Xl 42,000
< 5,500
i 46,500
201 Let2d] 10,000 9,500 500
03 &AL2 I 10,000 9,500 500
O Ngdsdad AZx 13 10,000, 000& 10,000
307 21201 A 84,000 74,500 9,500
Xl 42,000
< 5,500
s 36,500
04 DIZHHALALSE E X 84,000 74,500 9,500
O XNAd=Mad AZX(H3 84,000,000& 84,000
Xl 42,000
< 5,500
i 36,500
AEZ NSMSAE EX(=Hl) 17,000 0 17,000
= 12,000
s 5,000
401 Al HIZ 201 I 17,000 0 17,000
< 12,000
s 5,000
01 A& HI 17,000 0 17,000
O ¢ 2& 23717 4X 7,000,000& 7,000
< 5,000
[ia 2,000
O ot & 23717 &X 10,000, 000& 10,000
< 7,000
e 3,000
FEZEFLEIEI SRU3 M= 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
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2AMd: 2322
M s
@2 Msds2 (cho &)
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
04 DI2HHALALSE E X 2,000 ,000 0
O HMosl ZE=2=x37E3&I 32U Nzl
2,000,000& 2,000
HEZ 5302 U3 JH=A 2,000 ,000 0
307 glz2tol & 2,000 ,000 0
04 DIZtHALAIHE E X 2,000 ,000 0
O &&= 32 i=2Usa = 2,000,000& 2,000
FET §FEEI MEME U2 HF 2,000 ,000 0
307 glz2tol & 2,000 ,000 0
04 QIZFHALAIH E = 2,000 ,000 0
O sz §7E83&) H4EMs &2U3 N
kS| 2,000,000& 2,000
FEs@ =g st 2,000 ,000 0
307 glz2tol & 2,000 ,000 0
04 DIZHHALALSE E X 2,000 ,000 0
O ¥z +=Z¢2 sotsus 2,000,000& 2,000
detgEn=s2)| 2 MetgERE) sEUE A 5,000 ,000 0
307 glz2tol & 5,000 ,000 0
04 QIZFHALAIH E = 5,000 ,000 0
O H21s dMetdgEuns2I 2 Mi173 detd
S AI RS = 5,000,000& 5,000
HdetEERIMAE 228 d2UE 1A 5,000 ,000 0
307 glz2tol & 5,000 ,000 0
04 DI2HHALAISE E X 5,000 ,000 0
O MEZ0NA ST dEH3
5,000,000& 5,000
HEANER BHAIZ Odct2E =% & lal WA 2,000 ,000 0
307 gl2tol & 2,000 ,000 0
04 DI2ZHHALALSE E X 2,000 ,000 0
O MEANEA BAIZ D42 =2Z JHU3
W= 2,000,000& 2,000
NEHMSAEX S (XS) ,000,000 0 2,000,000
X 600,000
s ,400,000
401 AIEHIZ 28I ,000,000 0 2,000,000
Xl 600,000
= ,400,000
01 A& HI ,992,800 0 1,992,800
O MSAE ZEAS(FE7E)
1,992,800, 000& ,992,800
Xl 597,840
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fAH: S2st22 1
g s
@2 Msds2 (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o 1,394,960
03 Al 2 THHI 7,200 0 7,200
O HMESAE ZHAG(ZEFRE) AIE=20U
2,000,000,000& =* 0.36% 7,200
Xl 2,160
s 5,040
202 22tel 989,053 472,092 516,961
2 70,000
J| 159,000
< 30,000
s 730,053
oz 24 989,053 472,092 516,961
= 70,000
J| 159,000
< 30,000
[ia 730,053
=g 23 2el 233,053 242,092 A9,039
101 @14 dl 6,800 36,669 A 29,869
04 JIZHHZ2XRHEE S 6,800 36,669 A 29,869
O =HZFH =2 6,800,000& 6,800
201 L4l 200,203 183,003 17,200
01 At 22l 23,646 21,646 2,000
O get==&Hl 6,300
— EA22 A28 7Y 3,000,000& 3,000
— d=xJ HE AR
50,000& = 504 » 6& 1,500
— =) ZHLE P
150,000& = 3CH = 43l 1,800
O dXUZ2(=KMe W2 =)  300,0008 » 14 300
O d2E a4zaMd 2 50,0008 * 0.5 « 60 1,500
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2032 SFHH L AIEES 306,000 90,000 216,000
401 AlEHIZL 201 Y| 275,000 90,000 185,000
01 Al&H| 275,000 90,000 185,000
O 2032 28 XIetal5E 2 X2 At
100,000, 000& 100,000
O 2032 =S4 2= AH(1,416m )
95,000,000 95,000
O H2AHZT RUHAE BL:2Z2AH100 2SEX)
50,000,000 50,000
O 238 E2 HIJIEAE B2 A
30,000,000 30,000
405 XHA&HF S HI 31,000 0 31,000
01 XAt =2 F S HI 31,000 0 31,000
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3,750,000 =4CH 15,000
O H2HHE Zd| HUHeAlE &1
7,500,000 =2CH 15,000
O 20z 2 H2AH W=D 7
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101 21 214| 30,000 0 30,000
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